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16

Explain the efficient market hypothesis and the -

different forms of market efficiency. What are

the lessons of market efficiency? (6+6)

Compute the price of a 30-year-old bond with
the face value of 100. The coupon rate is 10
percent and yield to maturity is 5 percent. Does
it trade at a premium or discount? What about

with coupon rate 3 percent? (4+2)
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@ forg Adw (i) == get ofedte ser Feior Aed (CAPM)?

1 gﬂ@—w%ﬁaﬁﬁwﬁqwﬁaﬁawmm (i) e e S i it e
FRen ferfay |

) fefafag @ wie & Je 2
2. sl dte weAl & IR AT |

ST sferg e | e wy-fafore sty

3 A WE & 3k A B | ) ) Bk .
T 13% 0.8 30%
4 T D R Sae W - AR daf deeee Sl ‘
a1 18% 1.2 40%
A
5. o V- T o IO JAen an fEd R vaR s ¥ Afsre, wifee SR SRR &1 AFeh farerT 22% & 3R S - o
¥ IR 1 WA UF E B AR | = 8% 2
(@) wTw v 3R & B AmE fawes @ 27
1. (i) A firm is planning to invest for 5 years by buying
today and selling after 5 years. The following (@) W Ao foR w9 Sl & W v Arewhiferdl
are the four different options available to the T R
firm:
i T: .30
.. . - ) )
Option | Initial Investment | Discount Rate Expected Sale Price =t § 45
A 3 Lakh 15% 18 Lakh
B 9 Lakh 8% 50 Lakh a-fam: 25
C 15 Lakh 15% 75 Lakl
! GFRRR & snfem Red, AWe fEwem, der 3R
\i 6 Lakh 8% 35 Lakh

i - srafteg WEE AEeE @ AT w
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6. (i) Derive Capital Asset Pricing Model (CAPM)? (a) Find the IRR (Internal Rate of Return) for
(9) each project.
(i) What is systematic and non-systematic risk? The

following are estimates for two stocks. (b) Find the NPV (Net Present Value) for

each.
Shaide Expected Beta ¥ 1rm-Specnﬁcl Rfsk/
Return Standard Deviation ) ) ; ; .
/ Also, comment on which project to invest
0, 1]
A 13% 0.8 30% in? (8)
B 18% 1.2 40%
(i) Explain the different investment criteria other

The market portfolio has a standard deviation of than NPV and mention the pitfalls for IRR

22% and the risk-free rate is 8%. ' - method. (6)

(a) What are the standard deviations of stocks

(i) An investment is presented to Mr Ashok which
A and B?

gives him ¥60,000 at the end of each year for 4

b) Suppose that we were to construct a o
(b) pp years on the initial investment of ¥1,00,000. The

portfolio with proportions : o )
existing interest rate is 10 percent per annum.

Stock A: .30 ; ) Should he invest? Why/Why not? @)

Stock B: .45

Tehulle: .25 (i) o w9 st @leas 3N 5 4l §1e F=aw 5 9 &
Compute the expected return, standard deviation, forg fae & <t Ao a @ 21 v @ e Suere
beta, and non-systematic standard deviation of AN e - He e fAefafaa 2
the portfolio. (3+6)
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(@) 43% ¥ & A IJAF TR FIA ACHIerA! T
= fv smawme wiw & SEaE qen /i

27
(1) wEl eaftue AfEw w0 27

(=) af 10% =@ sfem fed & @y SR o
e ITa €, A gofl aaR @ & e 40

2hn? OE = e 27

(i) oo AR Y @ e w) Wy &, San st
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(iii) Frefefan fadwarel o= @ ®fF X SR Y 2

srorfare s B
T 12%
ars 13% 1.5

aeR ¥ nfeE Ret 1% 2 st SRaw Ao X 5%
B T W wWie @ded R 27 X A Y7
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(iii) There are two stocks X and Y with the following

characteristics:

Expected Return 3
X 12% 1
X 13% 1.5

The market expected return is 11% and risk
free rate is 5%. Which stock is a better buy? X

or X7 (4)

W s Wi B S e Y fAakd 2 3k vws
& e Red 15% 21 aMe fee 609 2 sk
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(i)

(ii)

(iii)

5

What is duration? Explain its properties and the
use of duration while determining price sensitivity
of a bond? Differentiate between Macaulay’s

duration and Modified duration. (8)

What is the meaning of immunization of a

portfolio? What are its shortcomings? (4)

Suppose the LIC has to make a payment of
1000000 in 7 years. The market interest rate is
10% annually compounded. The LIC’s portfolio
manager wishes to fund the obligation using
three-year zero-coupon bonds and perpetuities
paying annual coupons. How can the manager
immunize the obligation? What is the face value

of the zero-coupon bond? (6)

wafer @ 27 w@e O 3k Az 9 S dedieEn
Feifts e wg safr & Swan 9 sren a7 A
ﬁm%#ﬁtﬁam%ﬁamwﬁ
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AFRRE & wRRET @ o 27 TEe w0
27

W AT R uasTEd @ 7 a9t # 1000000
Wmélmmaw%aﬁﬂ?w&{%i
TR w1 AR iR @ s I - T S
sk e U w AR wR A Tl @
ST e atfied @ Ff 29 = #1 o e
I B [ B A 27 - T A= AR T

= B7

3. Consider two assets whose risks and returns are give

in the following table :

Stocks Bonds
Expected return 12% 8%
Standard Deviation 15% 10%

5284
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(i) There are n number of stocks which are

distributed identically with each having the
expected return of 15%. The standard deviation

is 60% and the correlation coefficient is 0.5.

(a) For n = 25, find the return and risk

associated with the portfolio. (2)

(b) What is the smallest number of stocks
which is required to generate an efficient
portfolio with a less than or equal to 43%"7?

(2)

(¢) What is the systematic risk here? (2)

(d) If risk free stocks are available with an
expected return of 10%, what will be the
slope of the Capital Market line? What does

it show? (2)

(i) Explain capital market line. Also, explain how is

risk premium determined? (6)
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Tk didwhiferat R faen o fored S see aRafat
i & e & ude @ fere 1, ek /=1, =2
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AR W ¥ form o frt 27 Semeon @1 3wt s
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Covariance between stocks and bonds = 45 Correlation

coefficient = 0.30

(i)

(i)

(iii)

Make a bordered covariance matrix for the above

and find the portfolio variance. (4)

Derive the portfolio opportunity set and using
above information, draw the portfolio opportunity
set for correlation coefficients p=1 and p=-1

explaining both cases clearly.

If -1 < p < 1, what happens to the portfolio

diagram? (6+2)

What is the separation property in optimal
complete allocation? Show how covariance plays
a role in diversification as the number of assets

(n) approaches infinity. (2+4)

@ Rl w R w fme sifew ik Rest Presferfes
diferet % faw g
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aryfare s 12% 8%
EICER R T 15% 10%

wE 3K 4T @ 9 GEVET = 45 WedsH U = 0.30

(i)

(i)

SREa & fg uE dred gewewn Afvaw w0 SR
el foerer FE @ )

AR AR A W W S IS SHABR H
I7ERT Y 7Y, FEhEy Iuic @ forg SR srae
Je TG p=1 3R p=—1 A AR P WL T A
GEEI

R 1 <p<l, @ NERCA F@ H FA B

T T S A goreRl 0w #7 aE fee
for wewewor ffadewor ¥ fre wew sife e
o qRgafadl @ S (n) G & wAE R
2

(i1)

(1ii)

9

Consider a portfolio consisting of three

uncorrelated assets each having variance equal

to 1, and 7=1.7%=2 and 73=3. Using Markovitz
model, find the optimal allocation of each asset.

(8)

Show how the risk-reward relationship can be
graphed using the Security Market Line. How
does it differ from the Capital Market Line?
Using examples, in the same graph, plot alpha
() of a stock and determine for what values of

alpha is the stock a better buy? (3+1+2)

The expected return for a market portfolio is
10% and the volatility is 16% with risk free
return of 4%. A stock X has a volatility of 20%
and its correlation with the market is 0.06. Using
this information, find out beta with market as
well as the expected return of the stock as per

CAPM. (242)
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